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r = (Rcos(wt), Rsin(wt), 0) (1)
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. d .
70 cosf) = —sinb, 7 sinf = cos 6. (2)

goboobooobb«c000b00bbo0obobooboooboboobooan

Logoboobouobooboboooboobooobbobobooboboobooboboan

gbooboboooooboooboboobobooboboooboobooboboooono
gboboobooobooo

.opgobooboooobobooboooooobobobob0b 00 mMbO0obO0o FOODOO

0000000000 a=F/mO000000000O0COOOO0O0OOOOOOCOOOOOO
U000 mOO000000D00OD0 a000000D00D000O00 F=malOOOOODOODOO
goooobooobooboooboobmbOobOODbOO0ODOO0OO0OO0ODOO FOODOODOODOO

.ooboboooooooooooooooboooooboooboobobegbobDOobDODn

d?r

00000000000000r(t)000000000O0O0ODOO0O0OO0OUODOFOOOOODODO
000000000000 () 0000000000020 000000000 r(0)0 v(0)ODO
gobobooobooobobooobooobbooobboobbooobobooobboon
gobooboooooobooobooo

000000000000000000000000000 0000 r(0)=rp, v(0)=voODO
goo

1
r(t) =ro + vol — 5 gt’e, (4)
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